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QUESTION 1

Group A has permission to download files in Content Library.

Group B does not have permission to download files in Content Library.

If a user is a member of both groups, what will be the result?

A. The user can access Content Library.

B. The user cannot download file from Content Library.

C. The user cannot access Content Library.

D. The user can download file from Content Library.

Correct Answer: B

Explanation: Permission inheritance (not in any order):* Permissions are additive if not in conflict so user gets
permissions from both groups.* Permissions at lower level in hierarchy has precedence.* Permissions on user has
precedence over Group* Deny permissions has precedence over Allow. https://pubs.vmware.com/vsphere-4-esx-

vcenter/index.jsp?topic=/com.vmware.vsphere.bsa.doc_40/ vc_admin_guide/managing_use
rs_groups_roles_and_permissions/c_multiple_permission_settings.html

QUESTION 2

Which two tasks should a vSphere administrator perform if the vmJc?n? log reports VMFS metadata errors? (Choose
two.)

A. reformat the datastore

B. ignore the messages

C. contact VMware technical support

D. check the device with VOMA

Correct Answer: CD

Explanation: https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.troubleshooting.doc/
GUID-6F991DB5-9AF0-4F9F- 809C-B82D3EED7DAF.html

VOMA = vSphere On-disk Metadata Analyser (dentify and fix incidents of metadata corruption that affect
file systems or underlying logical volumes) ProblemYou might need to check metadata consistency of a file
system or a logical volume backing the file system when you experience problems with various
functionalities on a VMFS datastore or a virtual flash resource. For example you might want to perform a

metadata check if one of the following occurs:
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You experience storage outages.

After you rebuild RAID or perform a disk replacement.

You see metadata errors in the vmkernel.log file.

You are unable to access files on a VMFS.

You see corruption being reported for a datastore in events tabs of vCenter Server.

ResultsTo check metadata consistency, run VOMA from the CLI of an ESXi host. VOMA can be used to
check and fix metadata inconsistency issues for a VMFS datastore or a virtual flash resource. To resolve

errors reported by VOMA, consult VMware Support.

QUESTION 3

An administrator procured a new server on which to install ESXi 6.5. The server is equipped with local Serial Attached
SCSI (SAS) disks with 512e format (512bytes sector emulation).

Which file system does VMware support on this type of disk?
A. VMFS6 (default) and VMFS5

B. VMFS5

C. 512e format is not supported

D. VMFS6

Correct Answer: A

QUESTION 4

An administrator wants to ensure that any virtual machine added to a certain port group always has sufficient network
resources. Network I/O Control version 3 has been enabled on the Distributed Switch.

Which three steps will achieve this objective? (Choose three.)

A. Reserve bandwidth for virtual machine system traffic on the Distributed Switch Port Group.

B. Edit the virtual machine\\'s Resource settings and set a reservation for virtual machine system traffic.
C. Create a Network Resource Pool on the Distributed Switch and set a reservation quota.

D. Reserve bandwidth for virtual machine system traffic on the Distributed Switch.

E. Add the Network Resource Pool on the Distributed Switch Port Group.

Correct Answer: CDE
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QUESTION 5

Which setting will allow a virtual machine to have direct secure access to an RDM?
A. NIOC

B. NPV

C. NPIV

D. CPUID Mask

Correct Answer: C
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